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QID : 601 - In the following question, select the related word pair from the given alternatives.

Heart:Organ::?:?

freafafEa vy 8§ Ry g faredt & & wefda g 3@ &t gl

Options:

1) Bus : Vehicle
99 : drgd

2) Car : Road
PR . TEh

3) Ship : Sea
STglel | 9fR

4) Train : Rail
JATST : Ty

Correct Answer: Bus : Vehicle
9 : qigd

Candidate Answer: Bus : Vehicle
9 : qrga

QID : 602 - In the following question, select the related word from the given alternatives.

Big : Small : : Solid : ?
frfafed wer & Ry 1y et § & T&fa s &t gl

g1 Bler: 39 ?
Options:

1) Metal

o1

2) Liquid

el

3) Smoke

g3

4) Cold

&er

Correct Answer: Liquid
=l

Candidate Answer: Liquid
=l

QID : 603 - In the following question, select the related word from the given alternatives.

Calculator : Calculations : : Scale : ?
frafafea vy § Ry 7y foredt & @ wefda e &t gHgl
eTeRIFIER U : : Thed : ?

Options:

1) Inches

el

2) Centimeters

3) Measure
HAYET

4) Steel
B

Correct Answer: Measure
HIOAT
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Candidate Answer: Measure
HIGAT

QID : 604 - In the following question, select the related letters from the given alternatives.
MUFT : PXIW : : GONE : ?
et vy A Ry g faehedt & © Tefda sreri &t gfgl

MUFT : PXIW : : GONE : ?

Options:
1) HMRL

2) JSPA

3) JRQH

4) HQRF

Correct Answer: JRQH

Candidate Answer: [ NOT ANSWERED ]

QID : 605 - In the following question, select the related letters from the given alternatives.
PINK: TMRO ::SOLD: ?

fafafea uy § Ry g faeredt & € defda sreri st gihgl

PINK:TMRO::SOLD:?
Options:

1) HQTX
2) WSPH
3) HAQV

4) AQBH

Correct Answer: WSPH

Candidate Answer: [ NOT ANSWERED ]|

QID : 606 - In the following question, select the related letters from the given alternatives.
SW:VA::LT:?

frafafea v & Ry mg e 8§ & Tefda sreri at gfhgl
SW:VA::LT:?

Options:

1) NY

2) LA

3) OX

4) oL
Correct Answer: OX
Candidate Answer: [ NOT ANSWERED ]

QID : 607 - In the following question, select the related number pair from the given alternatives.

Options:
1) 16:259

2)13:171
3)14:199

4)14:195
Correct Answer: 13:171
Candidate Answer: [ NOT ANSWERED ]|



QID : 608 - In the following question, select the related number from the given alternatives.
42:105::38:?
fafafea vy § Ry 7y et & @ Hefda g wt gl

42:105::38:?

Options:
1) 111

2)135
3)95

4) 83
Correct Answer: 95
Candidate Answer: [ NOT ANSWERED ]|

QID : 609 - In the following question, select the related number from the given alternatives.
24:39::49:?

FafafEa us A Ry 71g foeredt 7 & w&fea I & gkl

24:39::49:?

Options:
1) 68

2) 64
3)69
4)79

Correct Answer: 64
Candidate Answer: 64

QID : 610 - In the following question, select the odd word from the given alternatives.

frfafea v 8 Ry 1y e § § v 2reg & gfg)
Options:

1) Liver

opd

2) Intestine

3

3) Organ

24

Lungs

7

Correct Answer: Organ

§

Candidate Answer: Organ

E

QID : 611 - In the following question, select the odd word from the given alternatives.

feafafEa vy § Ry 7y foeedt & @ v gt gig)

Options:
1) Black
hlell

2) Yellow
dier

3) Rainbow

ECURA

4) Pink

(;orrect Answer: Rainbow
ECLERY

Candidate Answer: Black
hlell

QID : 612 - In the following question, select the odd word from the given alternatives.

frafafed wer 7 Ry g foeredt # & o aree &6t gfg



Options:
1) Arteries
gmfgt

2) Veins
T

3) Hand
HE)
4) Bones

Correct Answer: Hand
eIy
Candidate Answer: Arteries

QID : 613 - In the following question, select the odd letters from the given alternatives.

feafafea vy 8§ g g faeredt § € faww sreri ot gig)
Options:

Correct Answer: EYR
Candidate Answer: [ NOT ANSWERED ]

QID : 614 - In the following question, select the odd letters from the given alternatives.

FfafEa w8 Ry 71g foehedt & € faww sreri &t gi-g)
Options:

1) IR

2) KP

3)GT

4)ov

Correct Answer: OV

Candidate Answer: OV

QID : 615 - In the following question, select the odd letters from the given alternatives.

frafafea ue & Ry 7y foemredt & 9 v sieri at gl
Options:
1) XTQMJ
2) FBYUR
3) GCzZVS
4) TPMIE

Correct Answer: TPMIE
Candidate Answer: [ NOT ANSWERED ]

QID : 616 - In the following question, select the odd number from the given alternatives.

fafafea vy § Ry 7 et & @ fvm g @t gfag)
Options:

1)4-21

2)7-54

3)6 - 41

4)3-16

Correct Answer: 3 - 16

Candidate Answer: [ NOT ANSWERED ]|

QID : 617 - In the following question, select the odd number pair from the given alternatives.

fefafEa w8 g 7g faeredt § & fovm g gt gl
Options:

N11-17

2) 23 - 31

3)43-59

4)41-47

Correct Answer: 43 - 59

Candidate Answer: [ NOT ANSWERED ]

QID : 618 - In the following question, select the odd number pair from the given alternatives.

FfafEa us A Ry 71g foeredt 7 & foww g g &t ghg)



Options:

1)12-156

2)13-182

3)14-210

4) 15-230

Correct Answer: 15 - 230

Candidate Answer: [ NOT ANSWERED ]

QID : 619 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Shocking
2. Shiver

3. Shelter
4. Shorten
5. Shudder

frfafad el &t 2reentsr & o1 aTel s & SIER ford|

1. Shocking
2. Shiver

3. Shelter
4. Shorten
5. Shudder

Options:
1) 23145
2) 32145
3) 14523

4) 41523
Correct Answer: 32145
Candidate Answer: [ NOT ANSWERED ]

QID : 620 - According to dictionary, which of the following word will come at LAST position?

1. Operation
2. Orderly
3. Openly

4. Opulent
5. Oral

TeEenI & SR, Al § § & 1 2reg sifas T wr smm?

1. Operation
2. Orderly
3. Openly

4. Opulent
5. Oral

Options:
1) Oral

2) Orderly
3) Opulent

4) Operation
Correct Answer: Orderly
Candidate Answer: [ NOT ANSWERED ]

QID : 621 - From the given alternatives, according to dictionary, which word will come at THIRD position?

g 7Tq faehedt & 9, A1 & TR, I AT Te& TR W W SR?

Options:
1) Passage

2) Pastime
3) Patience

4) Pathetic
Correct Answer: Pathetic
Candidate Answer: Pathetic



QID : 622 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AGM, FLR, KQW, PVB, ?
Teh rehd e e €, S @ ue v g 1 Rq 1e Rieredil & § g Tl faehew gig, St orgehd ol [ |

AGM, FLR, KQW, PVB, ?
Options:

1) UAG
2)VLC
3) CGN

4) PNO

Correct Answer: UAG

Candidate Answer: UAG

QID : 623 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FROM, CNLI, ZJIE, WFFA, ?

Qeh S1eRH fear mar g, e € Uk Ue g &1 iRy mq fened! & & a5 9@l ey g, ST srgehd ot

FROM, CNLI, ZJIE, WFFA, ?
Options:

1) ACNG
2) TCCX
3) TBCW

4) FRIP

Correct Answer: TBCW

Candidate Answer: [ NOT ANSWERED ]

QID : 624 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
TRO, PNK, LJG, 2, DBY

e reRH foam mar 8, RO € uak ue g &1 Ry e Reredt & & a8 9@l feneu g, St srerd a6t i |

TRO, PNK, LJG, ?, DBY
Options:

1) FBC

2) FNB

3) FRN

4) HFC
Correct Answer: HFC
Candidate Answer: [ NOT ANSWERED ]|

QID : 625 - In the following question, select the missing number from the given series.
11,16, 21, 13, 19, 25, 15, 22, 29, 2, 25

FrafafEa v 8§ Ry 7 foeedt & @ g sfe 31d Siforg

11, 16, 21, 13, 19, 25, 15, 22, 29, 2, 25

Options:

1)18

2)17

3)19

4) 21
Correct Answer: 17
Candidate Answer: [ NOT ANSWERED ]

QID : 626 - In the following question, select the missing number from the given series.
2112, 2328, 2671, 3183, ?, 4912
frafafea vy 7 Ry 7 el & @ g sfe 1 hifSig

2112, 2328, 2671, 3183, ?, 4912



Options:
1) 3826

2) 3742
3)3912

4) 3992
Correct Answer: 3912
Candidate Answer: [ NOT ANSWERED ]

QID : 627 - In the following question, select the missing number from the given series.
21,22, 34.5,71,180, 543, ?
frfafea uer & Ry g et & & g sfe 71d RISl

21,22, 34.5,71,180, 543, ?
Options:
1) 1864

2) 2234
3) 2336

4) 1904
Correct Answer: 1904
Candidate Answer: [ NOT ANSWERED ]

QID : 628 - M is 2 years older than P. L is 2 years older than O. O's age is the average of the ages of L and N, P's age is the average of the ages of L and M and L's age is
the average of P and O. Who is the youngest?

M,P&2TraTaer gl L, 0¥ 2 Tl g1 81 O i 3mg L 3R N Y 3 o1 3w &, 3k P Y a1y L 3R M Y 31y ot 37rd & 3R L Y 31y P 3R O &Y 31y vl 3f¥rd &1 T Stel A
&

Options:

1)L

2)M

3)N

40

Correct Answer: N

Candidate Answer: [ NOT ANSWERED ]

QID : 629 - X said to Y that your mother's father-in-law's wife is mother-in-law of my father. How are X and Y related?

XY & gt foh e AF o TR &l Ut AR O T 9 &1 X S8R Y e gER & & Tefad 82

Options:

1) X is sister's husband of Y

X, YH g Fufa g

2) X is child of Y's father's sister
X, Y& Al sg1 = g

3) Y is father's brother of X

Y, X o forar o orré &

4) Y is sister's husband of X

Y, X AragTdhafa g

Correct Answer: X is child of Y's father's sister
X, Y o fOaT <l a8 o1 s @

Candidate Answer: [ NOT ANSWERED ]

QID : 630 - From the given alternative words select the word which cannot be formed using the letters of the given word.
GEOGRAPHIC

fafafea fawmel § @ ag e gy St iRy 7Y 2rea & 1R et UINT ek T8l ST ST ehdT:

GEOGRAPHIC
Options:
1) cheap

2) rogue
3) price

4) graph
Correct Answer: rogue
Candidate Answer: rogue



QID : 631 - If BANQUET is coded as ZYLOSCR, then how will NEW be coded as?

gfe BANQUET &t ehte # ZYLOSCR forar Sirar & af NEW ot shts & & forar stgrm?

Options:
1) MVD

2) MDV
3) LCU

4) OFX
Correct Answer: LCU
Candidate Answer: [ NOT ANSWERED ]

QID : 632 - In a certain code language, 9124 means 'run around the block’, 2548 means 'don't block the path’ and 4763 means 'chock a block full'. Find the code for
'the'.
fomeft ffya ente simom & 9124 &1 372f & 'run around the block', 2548 @1 31 & 'don’t block the path' 3R 4763 @t 312f & 'chock a block full'| 'the' & iy s 3 &2

Options:
1)1

2)9
3)2

4)4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID : 633 - In a certain code language, '+ represents -, -' represents 'X', 'x' represents '+ and '+' represents '+'. Find out the answer to the following question.
90x10+25-5+50="?
et P e wwrd '+, - st el w=ar g, -, 'x' & uefia a=ar §, 'x, '+ &l uefia eear & ofiR '+, '+ ol uefRia axar 81 Frfeifa ust o1 SR 71d A2

90x10+25-5+50="?

Options:

1) 81

2) 84

3) 100

4) 48

Correct Answer: 84

Candidate Answer: [ NOT ANSWERED ]

QID:634-1f11T@7=2,18@0=9and 22 @ 20 = 1, then find the value of 16 @ 10 =?

IR @7=218@0=93R22@20=1,a 16 @ 10 = ? T A ATd H?
Options:

16

2) 160

3) 26

4)3

Correct Answer: 3

Candidate Answer: [ NOT ANSWERED ]

QID : 635 - If A* B means A is father of B, A + B means A is sister of B and If A % B means A is daughter of B, then what does C * D % E + F mean?

TREA*BHTIEHA BA UM A+BAIGIEfHFA BRI TEAE RARA % BAT SIS HA BRI PRI C* D % E + F o1 am o1ef 82
Options:

1) Cis F's husband

C Farufag

2) C is F's wife's brother

C, F Y vt ar o17g &

3) Cis father of F

C Farfoarg

4) Cis F's sister's husband

C, F &1 g @t ufd

Correct Answer: C is F's sister's husband
C Faisgaarufd &

Candidate Answer: [ NOT ANSWERED ]



QID : 636 -

Select the missing number from the given responses

fer T férepedlt ¥ < S8 W g

3 10 2
? 8
17 19 10

Options:
1)1

2)9
3)-1

4)-9
Correct Answer: 9
Candidate Answer: 9

QID : 637 - Which of the following terms follows the trend of the given list?
CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
frfafea 7 O & 91 ug § it gt & o & SIgER 87

CABABABAB, ACBABABAB, ABCABABAB, ABACBABAB, ABABCABAB,
Options:

1) ABABABACB

2) ABABABCAB

3) ABABACBAB

4) ABABABABC

Correct Answer: ABABACBAB

Candidate Answer: [ NOT ANSWERED ]

QID : 638 - A ship starts from the port and sails 43 miles East, then it turns South and sails 17 miles, then it turns West and sails 25 miles, then it turns to its right and
sails 17 miles. Where is it with respect to the port from where it started?

Teh STETST UIE & TeT TR el & SR g ol 3R 43 #iet =eran & | O a1 afayor i ofik g1 § R 17 it aaar 81 fOR ag ufg &t ok geane 25 et e & ofk R arfet ok
qeae 17 Hie Iorar g1 fore oié @ 59 STgret 3 Ief=1 TR fohdT o7 IUS 316 I8 STETST fohe il gt TR 82

Options:

1) 18 miles West

18 e ufg =

2) 68 miles East

68 e gd

3) 18 miles East
18 i

4) 68 miles West
68 et ufgm

Correct Answer: 18 miles East
18 et gd

Candidate Answer: [ NOT ANSWERED ]

QID : 639 - Two planes start from the same strip. Plane P flies 15 miles West, then turns left flies 22 miles and lands. In the meanwhile plane Q flies 7 miles South,
then flies 11 miles East, then turns to its right, flies 15 miles and lands. Where is plane Q with respect to plane P?

3 & e gl f0 8 I URY & &1 & P, 15 Hiel UfgA ahl 3R I & 37 fthe a1 STk JSohe 22 Hidl IS4 & 916 7S el &1 S 97T Wi Q, 7 Hiet SfaioT i 3R S8 & R iR
11 i g T 3R IS & T fthe St &78 SiR gane 15 Hidt 38 & 918 i ThedT &1 @i P & def # @i Q gt 87

Options:

1) 26 miles East

26 et

2) 26 miles West

26 it ufgm

3) 4 miles East

Al gd

4) 4 miles West
4 it ufge



Correct Answer: 26 miles East
26 Hia q@

Candidate Answer: [ NOT ANSWERED ]

QID : 640 - In the question two statements are given, followed by two conclusions, | and Il. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All officers are mothers
Statement II: Some doctors are mothers

Conclusion I: All doctors are mothers
Conclusion Il: Some mothers are officers

u § &l %A 33 & o omt &t fse | o 1| et M &1 siruent | € 16 S e I € T a8 wrHaa: 1 a9 vl gl g1 emuent fAofg e & Y Rw g
et & @ w-a1/aH-8 Rffa Tu @ &= gR1 9et [T ST 9ehdl &/9hd &, afe &S 8l

HYU |: goft 3fffthad ATd &
YA |I: T Saed A6 §

frsenef I: goft Sfeed ATg &
forsene I1: o TG siffthere &
Options:

1) Only conclusion | follows

Fhadt ey | Te &
2) Only conclusion Il follows
Il =gt g
3) Both conclusions | and Il follow
ST foreenef | o 1l W€t &
4) Neither conclusion | nor conclusion Il follows

1t freenef | @@l & 1 81 et |1

Correct Answer: Only conclusion Il follows

haet ey || gt &
Candidate Answer: [ NOT ANSWERED ]

QID : 641 - In the question three statements are given, followed by three conclusions, I, Il and IlI. You have to consider the statements to be true even if it seems to be
at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All desert is jungle
Statement II: All sand is desert
Statement lll: No trees are jungle

Conclusion I: No trees are desert
Conclusion II: No sand is trees
Conclusion IlI: All jungle is sand

uy § 9 oy A T € Srwes omt i s |, 11 3R 111 Rt 1 €1 simuent A= € 36 i e I & 9 a8 T I at @ 9 wefia gia gt 1 simuent ot e & i iy g
et & @ w-a1/a-8 Rffa T0 @ &= ZR1 Get (b ST 9ehdl &/Fhd &, afe &S il

HY | Goft T St &
HYA |I: Tt 3T A= §
&Y I: S I8 S T8l §

forsene |: 1S O Frevere e €
e II: FE 7T TR
frped 1I1: asft ST W@ €
Options:

1) Only conclusion | follows

Fad ey | T8 &

2) Only conclusion Il follows

e e || 98t §

3) Only conclusions | and Il follow
Fae fsmy | SR 1 98t

4) None of the conclusions follow

= s |, 11 o 11 It 8T &

Correct Answer: Only conclusions I and Il follow

haet fsend | iR 11 T8l &
Candidate Answer: [ NOT ANSWERED ]



QID : 642 -

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?

fre=forRad ST arepfer & & 1 @1 & e g g
3T fer & el B A ST AT I Fehell?

Options:
1)

0

N
-

]

0

w
~

S

S
=

o

Correct Answer:

&




Candidate Answer: [ NOT ANSWERED ]

QID: 643 -
Which of the following answer figure patterns
can be combined to make the question figure?
frr=rferRae SR el o @ @i & nferswt @1
TirEa 3T 7Y T3 ST BT ST oI Tl 87

Options:

1)

2

3)

4)

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QID : 644 -

In the following figure, square represents Artists, triangle
represents Military officers, circle represents collectors and
rectangle represents Fathers. Which set of letters
represents collectors who are either military officers or
fathers?

frrferfiae for % o, wemenrt o wafie Fwar &, frge Ao
AR BT WS T 8, g, dered o1 Hafiid e & 3K
et forerralY et srfifer amva 1 el @1 i AT R 9
oty 1 yafia Fwar & o ar o il siiftved & ar foan
&

JAN
c{ £\ P




Options:
HH

2)B

3)G

4)F

Correct Answer: F
Candidate Answer: F

QID : 645 -

Which of the following Venn diagrams represents the
relationship between Women, Mothers and Teachers ?

ferafeRea & ¥ &1+ @1 9 f afeamar, wisi s frerent
& di ey AT 87

Options:
1)

2

© ®

3)

0

@

Correct Answer:

&

Candidate Answer: [ NOT ANSWERED ]



QID: 646 -

Which answer figure will complete the pattern in the
question figure?

feraferfRae & & aiH-dt ST sl wy angfar & uftrsy

s;
P

bptions:

-

2)

3)

4)

é\

Correct Answer:

é\

Candidate Answer:

é\




QID : 647 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

<RIt SR ST fT 7 A I iy Y iR e wy
mefr fifee B

Options:
1)

\_/\
AN
\/

2)

3)

i
£ X
/ AN\
=N

4

Correct Answer:

£ RN
Lo
/NN
N

Candidate Answer: [ NOT ANSWERED ]




QID : 648 -

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T STBIT A @Y 3R BT Bl AISHR I
&G B AT Gl & J1G I8 fobd IR STl Sl
feang <r?

______

Options:
1

C o O
DO 04
o O o

O A0

2)

oo
O o O
o O o
Or—©

3)

4

¥ O
]
> 0_0 <
0
O A O

Correct Answer:

oOvo
O O O
P 0 04
o O o

PN

Candidate Answer: [ NOT ANSWERED ]



QID : 649 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the

given figure?

Ife U YT BT MN RGT U g1 1 T &) =Y IR

STTPRIT ¥ & BIF-TT STTPTT H4 BT T FET
ufcrfersr arfr?

Options:
1)

OB
A

2)

3)

4

»F
h ©

Correct Answer:

OB
A

Candidate Answer: [ NOT ANSWERED |




QID : 650 -

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by wa classes of alphabets as shown in the given two matrices, The
columns and rows of Matrix-l are numbered from 0 to 4 and that of Matrix-l|
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'H' can be represented by
21, 43 etc and 'R’ can be represented by 96, 87 etc. Similarly, you have to
identify the set for the word 'POEM'.

e 9% et U T TIE @R SuTE A &, S T fmedt o ¥ flt g o
ez wram 31 et ¥ oo a1 wvea-wgE aveRl & &t et gy swfe g £, S i

e g 2T JeE! & 1 -1 6w SR dlth B EEr 0 9 4 3R seE- i s
0 81 57 TR U 18R DI TEe! 9d! Uith A T F w9 T g s
T WA &1 FEERT & BT H 21, 43 AN GRT Zeria A e & quT 'R @
96, 87 arTfe T =TT o Hodr 21 39 oY W gt wy F 2y 9es POEM' &
fem w8 @1 qEarE 2l

_ Matrix] ST i  Mawin e |
0 1] 2 3 a4 5 T ] 9
0 A A | A B 5 5] u | N z
1 C A | F B C [ ] R | v 3] z |
2 J v | F B K 3 P N | | w a_ |
3 F 1 | & [ L 8 % N | m v v
4 | B | B H E 3 % R_| v T o |
Options:
1) 76,69,01,33
2) 56,88,23,41
3) 89,56,44,02
4) 75,68,44,33

Correct Answer: 75,68,44,33
Candidate Answer: [ NOT ANSWERED ]

QID : 651 - Depreciation of fixed assets is an example of

ot aRgfat o geug SeTeRun §: I

Options:

1) deferred revenue expenditure
T g

2) capital expenditure

Liuckpl

3) capital gain

goiiTa mift

4) revenue expenditure
ST g

Correct Answer: capital expenditure
dotiTd &g
Candidate Answer: capital gain

QID : 652 - Which one of the following is not a feature of monopolistic competition?

fr=fafad 7 @ sa-dt ven fatwdr genfdier wgt 6 78t 82
Options:

1) Large number of buyers and sellers in the market
AR # WiegRi 3R Sa-arel 6 gt T

2) Differentiated products constitute the market
faafea el @ IoTR ST @

3) Product in the market is homogeneous

IR § 3T

4) Selling costs are used for sale promotion

faena Yag1 & forg fSeht amra o i fopar ST &
Correct Answer: Product in the market is homogeneous
IR & ITE

Candidate Answer: [ NOT ANSWERED ]|



QID : 653 - What is the maximum loan amount permissible under the MUDRA Yojana?

HET TSI & STl Sfeha™ Srgara For T fohai 82

Options:

1) Rs. 50,000
50,000 ¥
2) Rs. 1 lakh
1 9rg T

3) Rs. 5 lakh
5 9Rg UL

4) Rs. 10 lakh
10 oRg T

Correct Answer: Rs. 10 lakh
10 9 g ¥0d

Candidate Answer: [ NOT ANSWERED ]

QID : 654 - As per a latest classification of countries by the World Bank India now belongs to which of the following category?

ey dep g1 Ty Ty 22l & Tefieraw avfienzor & SR WRa ada & v Sroft & deifdra 22

Options:
1) Upper-lower income country
g S arer At

2) Lower-middle income country
fA-aey Mg arer 3T

3) Middle-middle income country
T § HEIH 1Y Tl &0

4) Lower-upper income country

-3 31 arer 3

Correct Answer: Lower-middle income country
f=-Teny S arer a1

Candidate Answer: [ NOT ANSWERED ]

QID : 655 - As per census 2011, which state had the lowest sex ratio?

20711 & SFRTUMAT & SR, fhe wa § felmgura aed & oam?
Options:

1) Punjab

Eric)

2) Haryana

ghamom

3) Uttar Pradesh
ITR TR

4) Bihar

[EEIN

Correct Answer: Haryana
Candidate Answer: [ NOT ANSWERED ]

QID : 656 - Pluralist Theory of Sovereignty emphasizes the importance of which of the followings?

UET & Sgerarsl Rigia § fFefefea & fora w g e s 82
Options:

1) Association

o)

2) Monarch

]ISl

3) State

s

4) Government

TIIR

Correct Answer: Association
g

Candidate Answer: [ NOT ANSWERED ]

QID : 657 - In which of the following countries the system of judicial review was originated?

ffafea 7 @ fhg 3 & =fes w#flen vomrett 1 Sga gam am?



Options:
1) France
g

2) Germany
STHAT

3) USA

| Y
4) Britain
e

Correct Answer: USA

RASY
Candidate Answer: [ NOT ANSWERED ]

QID : 658 - Under which article of the Indian Constitution is the District Planning Commission constituted?

TR e & e srgeee & Siavid ot et TfAf 1 T g 82

Options:
1) Article 243 ZD

3FD% 243 ZD
2) Article 244 ZD
3T 244 ZD

3) Article 242 ZD

3 242 ZD

4) Article 243 ZE
TG 243 ZE
Correct Answer: Article 243 ZD

3T 243 ZD

Candidate Answer: [ NOT ANSWERED ]|

QID : 659 - Which kind of majority is required for constitutional amendment in forming a new state?

Teh 71T I F & Gaentes deie & forg Far sgad @nfgg?
Options:
1) Simple
HIYROT
2) Two-third
fogrs

3) Three-fourth
GIEECIRIE]

4) Two-third plus ratification by half of all states
gt gd ome Il T STgEEeS

Correct Answer: Simple

TIYROT

Candidate Answer: [ NOT ANSWERED ]|

QID : 660 - Which officer of the Government of India has the right to take part in the proceedings of parliament of India even though he is not a member?

VR TR HIF-91 SAfARRT Ta&g 7 Bid §Y it MR Ha chl hrdaral § 9T o i SATYHR 1@ 82

Options:

1) Vice-President

U

2) Attorney General of India

TR ST STET1 STReT

3) Comptroller and Auditor General
fRi=ren Td HgTeikar udiete

4) Election Commission

149 g

Correct Answer: Attorney General of India
R ST STET STReT

Candidate Answer: [ NOT ANSWERED ]

QID : 661 - The term 'Stupa' is associated with which of the following event of Gautam Buddha'’s life?

T U A g o Sita i e frg ger @ g&fda 82
Options:

1) Death

g

2) First Sermon

T IuS

3) Birth

S

4) Renunciation
DEESIL

Correct Answer: Death

et



Candidate Answer: [ NOT ANSWERED ]|

QID : 662 - Who was the last ruler of the Gupta Dynasty?

T 1 T SiferH AT i AT
Options:
1) Puru Gupta

RTE
2) Vishnu Gupta

fereey 7
3) Skanda Gupta

SRS

4) Kumar Gupta

AR

Correct Answer: Vishnu Gupta

ooy g

Candidate Answer: [ NOT ANSWERED ]

QID : 663 - Where was Guru Govind Singh educated and learnt Persian?

% e i i e el g8 o 381wt gl wiedt oft?

Options:
1) Lahore

2) Amritsar

AR
3) Patna
e

4) Anandpur Sahib

ey wifed

Correct Answer: Anandpur Sahib
ey wifes

Candidate Answer: [ NOT ANSWERED ]

QID : 664 - Which of the following was the precursor of Indian National Congress?

o & s s Tt i it o e o

Options:

1) Servents of Indian Society

GIweg SiTth §

2) Indian Association
TaiReRE

3) Indian National Union
ERECKIEDE]

4) Indian League

Correct Answer: Indian Association
AT

Candidate Answer: Indian Association

3foga Taifluem

QID : 665 - During which governor general's time was the annexation of Sindh in British State done?
TR e STRe o wwg | Ry o7 faera fafeer wrsa # forar mam?
Options:

1) Lord Dalhousie

1S sagrsit

2) Lord Chelmsford

IS PIRS

3) Lord Ellenborough

1S GaeRt

4) Lord Hastings

e gfed

Correct Answer: Lord Ellenborough

Candidate Answer: [ NOT ANSWERED ]

QID : 666 - What is the second most abundant element on Earth's crust?

gedt dh T JU TR () TR IUY GRT Had TR o< T 62



Options:
1) Carbon
HIET

2) Silicon

faferta

3) Oxygen

STttt

4) Hydrogen

QeSS

Corregt Answer: Silicon

andidate Answer: Oxygen

QID : 667 - What is called a shallow stretch of river that may be crossed on feet.?

&) T Yep I FaeaR it Sget a1 Mt & UR fohan 11 9ok, T dhgerrar &7

Options:
1) Ford
B

2) Atoll
dw

3) Reef
L
4) Lagoon

Correct Answer: Ford
Candidate Answer: [ NOT ANSWERED ]

QID : 668 - Which among the following is a cold-dry wind?
FafafEa 7 8 o 0 g &t ofk e arg 87

Options:

1) Hurricane

2) Tornado

et

3) Bora

EIN

4) Cyclone

BIEESIE]

Correct Answer: Bora

Candidate Answer: Tornado

QID : 669 - The man-made reservoir Gobind Sagar located in Bilaspur is situated in which of the following states?

foemaqR srafeia ama Ffia s Mifde arr Fefefea 3 & g asu 4 [Ra &2

Options:
1) Uttarakhand
JIRMETS

2) Uttar Pradesh
IR TR

3) Punjab

EEic)

4) Himachal Pradesh
TR

Correct Answer: Himachal Pradesh
e

Candidate Answer: [ NOT ANSWERED ]|

QID : 670 - Which among the following rivers does not flow from East to West?

frafaf@a & 4 - 78 g @ ufgm & ok 7 7 82

Options:
1) Narmada

2) Tapti
aref

3) Cauvery
T

4) Mahi



Correct Answer: Cauvery
Candidate Answer: [ NOT ANSWERED ]|

QID : 671 - Which of the following historical monument has been chosen as a "Swachh Bharat Icon" by the Union Government on November 21, 2017.

21 TR, 2017 ! FA=fafad A forg efagiRie SRS o 99 TR 3 "5 YR 33" & w9 & Tafad fhar?

Options:
1) Haveli Dharampur

2) Charminar
3) Amaravati

4) Vishwa Bharati
[EERIGI

Correct Answer: Charminar
Candidate Answer: [ NOT ANSWERED ]

QID : 672 - As per a recent announcement, where will India's first Electronic Manufacturing Cluster (EMC) come up?

BTT 61 & <l TS SNUTT & STHR HIRd o UUH Jaidre 1+1eh Athard 7T het¥e (JULTET) &t TATTHT gl ehl SITg?
Options:

1) Andhra Pradesh

35T Ue

2) Maharashtra

HERTY
3) Rajasthan
ISR

4) West Bengal
qige s

Correct Answer: Andhra Pradesh
38T TIRRT

Candidate Answer: [ NOT ANSWERED ]

QID : 673 - Which of the following is a multilevel global campaign to spread awareness about importance of girl's education?

ISR Y 8T & AEd & IR H SIEehdl et & foig Fafafed & 9 sgad e sifvam aF-a1 82
Options:

1) Girl Rising

ot rgfShT

2) Most Important Part of Our Life: Girls
Sia o1 T 3rgH fem:

3) Save Girls: Educate Girls

aferenT s anforent uerd

4) Education of Girls
& frem

Correct Answer: Girl Rising

et T

Candidate Answer: Save Girls: Educate Girls
qiferen ST STt gerd
QID : 674 - Which country will host the Summer Olympics 20207

#isA siiften 2020 & AT SIF AT 37 HAM?
Options:

1) Qatar

DR

2) Tokyo

et

3) Rome

9

4) Jakarta

Seraf

Correct Answer: Tokyo

Candidate Answer: Qatar
hdR

QID : 675 - Which of the following sportsperson is not correctly matched with their respective discipline?

frfafed 7 § g fEars @ @« 3°a |« & gafad 781 82



Options:

1) Jitu Rai : Shooting

Sitq I - gIféT

2) P.V. Sindhu : Badminton
or.dft. Ry : Jefifen

3) Sakshi Malik : Boxing

areft Aferes : SifeRiT

4) Deepa Karmakar : Gymnastic
ST AT

Correct Answer: Sakshi Malik : Boxing
areft : Siferd

Candidate Answer: [ NOT ANSWERED |

QID : 676 - “A Better India : A Better World” is written by .

‘TIREET TR TE_ FgRIRA TSI

Options:
1) Arun Jaitley
30T et

2) Aamer Hussein

3) N. R. Narayan Murthy
T, AR, AR Jfef

4) C. Raja Mohan
T, e AT

Correct Answer: N. R. Narayan Murthy
T, IR, AR Jfel

Candidate Answer: [ NOT ANSWERED ]

QID : 677 - Which among the following has won the Nobel Prize for Chemistry in October 2017?

frafafea 3 @ e srpsr 2017 & TOrA e & g e REnR Sitar 82

Options:
1) Jacques Dubochet
S|

2) Joachim Frank
Stramfe then

3) Richard Henderson
Ras gz

4) All options are correct.

g} faered TEl El

Correct Answer: All options are correct.
goft e Tt €1

Candidate Answer: [ NOT ANSWERED ]|

QID : 678 - On birth anniversary of social reformer Basavana how many volumes of Vachana were released by Narendra Modi in April, 20177

S 2017 F, T AT 3 TS GURe ST Y STl UR G211 oh foha=t eeheor St fohg &2
Options:

1) 21

2) 20

3)23

4)25
Correct Answer: 23
Candidate Answer: [ NOT ANSWERED ]

QID : 679 - In May 2017, with which country India has signed an agreement on Maritime Security?

7E 2017 #, TRA 7 fhT 321 3 1oy T TReMT & TEd R ger fhg €2

Options:
1) Sri Lanka
sfietent

2) Bangladesh
TTeTT&eT

3) Mauritius

AR

4) China

#7

Correct Answer: Mauritius
TR
Candidate Answer: [ NOT ANSWERED ]|



QID : 680 - Which neighbouring country of India measures prosperity by gauging its citizens’ happiness level?

TR T I I TSI 37 THfg Y S1u AFTReRT <hl Geft & TR R AT 87
Options:

1) Pakistan

uTfREaT

2) Nepal

ATt

3) Sri Lanka

sfietent

4) Bhutan
]

Correct Answer: Bhutan

]
Candidate Answer: [ NOT ANSWERED ]|

QID : 681 - In which communication mode, data can be transmitted in both directions at same time?
forg TR & TR # STeT T FEROT Ueh GHY | a1 feamai # gy gian g?

Options:

1) Simplex

Rty

2) Full duplex

aref
4) Multiplex
EEdircac

3) Half duplex
S

Correct Answer: Full duplex
Candidate Answer: [ NOT ANSWERED ]|

QID : 682 - The computer program that converts assembly language to machine language is called

IR I g WA it 3r&arett wrom vt Aeft oo & wuiaRa e s, gl
Options:

1) Complier

HITEER

2) Interpreter

3) Assembler

4) Comparator
Correct Answer: Assembler

Candidate Answer: Interpreter

QID : 683 - Which is a base metal of amalgam alloy?

ST AT T SR ¢Tg i T &2

Options:
1) Aluminium

2) Mercury
T

3) Copper
GIE

4) Zinc
STt

Correct Answer: Mercury
IRT

Candidate Answer: Mercury
URT

QID : 684 - Which of the following is the structure of graphite?
FfafEa # 8 i @ dwige & 9T 87



Options:
1) Rigid three-dimensional
e

25 Hexagonal

3)\Iike Football
peare St

4) No option is correct.
g Rrohey Tt TET &1
Correct Answer: Hexagonal

Candidate Answer: Hexagonal

=

QID : 685 - A wooden spoon is dipped in a cup of ice cream. Its other end will

RS i Toh TRTT Y HATSHHIA h W1 A GaraT 1T 3 | FHRT GERT R I
Options:
1) become cold by the process of conduction
T UfehaT & gRT 38T g SITaT
2) become cold by the process of convection
Tag UfehdT & GRT 8T gl ST
3) become cold by the process of radiation
ufehar gRT 3T 8 SITYm
4) not become cold
&e1 e ghm

Correct Answer: not become cold
ESEREU

Candidate Answer: become cold by the process of conduction
T UfehdT & gRT ST 8t ST

QID : 686 - Which acid is the most abundant acid found in grapes?

ST 7 FEE TR AT A i AT 31T UTT ST 87

Options:
1) Oxalic acid
I T

2) Ascorbic acid
3TRT

3) Tartaric acid
3T

4) Formic acid
IfHeh 31T

Correct Answer: Tartaric acid

TR et

Candidate Answer: Tartaric acid
3T

QID : 687 - The splitting of white light into its component colours is called .

AT URIRT HT I I JUit & A= ____ Fgerar gl

Options:
1) diffraction
faad=

2) refraction
3) dispersion
4) scattering

Correct Answer: dispersion

faggor
Candidate Answer: [ NOT ANSWERED ]

QID : 688 - Which of the following statements are CORRECT?

I. Change in magnetic field produces induced current.
1. Flow of current in a conductor produces magnetic field.
Ill. Magnetic field related to coil can be produced by motion between conductor and coil.

frafafea & @ o & wu ad 82

|. deehia &5 § uRad & IRa a1 I gt 81
II. TTeTeh A yaTied URT Gaehid & 3 ahedl ol
111, HUSeh G Fifera gaehra &, ATeleh a7 HUST & HeT SATUfENT TTfT < SHRUT g Fehell &1



Options:
1) Onlyland I
haret | q I

2) Only I and I
Fad | qt il

3) Only Il and 1l
had [l qr il

4) All statements are correct.

g} o Tt €1

Correct Answgr: All statements are correct.
gt o Tt €1

Candidate Answer: [ NOT ANSWERED ]

QID : 689 - Which gas is used as a fuel in a rocket?

Ache H e & w9 & oot I 7 o1 IuiT fomar S 82

Options:
1) Radon
&

2) Hydrogen

GESEE

3) Chlorine

FARN

4) Nitrogen

RIEHEES

Correct Answer: Hydrogen

qudidate Answer: Radon

QID : 690 - Which of the following is good insulator?

Fafafea # @ 9a9 afear game &iF 91 8?

Options:
1) Mercury
EINS

2) Cadmium
Sefram
3) Germanium

4) Glass
Ikl

Correct Answer: Glass
i

Candidate Answer: Glass
i

QID : 691 - Which is the most abundant Vitamin found in carrot?

TSR & T8 UgR 71 8 i 91 faerfd= urar siar 82
Options:

1) Vitamin A

e A

2) Vitamin B

i B

3) Vitamin C

faerfm C

4) Vitamin D

[Craiegy

Correct Answer: Vitamin A
A

Candidate Answer: Vitamin A
T A

QID : 692 - How the rate of absorption of water through roots can be increased?

TSl & AT J ST o SN il &R Sl TGIT ofT ehell 872



Options:

1) Keeping the plants in the shade

dief et ST H TR

2) Keeping the plants in the dim light

drel} et He Hent<T § 3@

3) Keeping the plants under the fan

o} et o & T @R

4) Covering the plants with a polythene bag
i ol Oiferefs & gepere

Correct Answer: Keeping the plants under the fan

terf ot UG & A @R
Candidate Answer: [ NOT ANSWERED ]

QID : 693 - A spore producing plant is .

HITU] IeT R AT Teh UTS Sfia |
Options:

1) rose

RSIC]

2) bread mould
SIRIE T Y

Bk
3) potato

ST,
4) ginger
3ch

Correct Answer: bread mould
SIS I TG
Candidate Answer: bread mould

&l e

QID : 694 - Which chromosome is responsible for manliness in man?

oY H Yo & foIg Sl I Uit T4t IReRl 82
Options:
1) X0

2) YO
3) XX
4) XY

Correct Answer: XY
Candidate Answer: XY

QID : 695 - The human eye forms the image of an object at its

A A IR foneft g a1 wfafens a1 €1
Options:

1) cornea

2) iris

3) pupil

gaett

4) retina
Correct Answer: retina
Candidate Answer: [ NOT ANSWERED ]

QID : 696 - Which of the following is NOT a multicellular organism?

fr=fafea & @ &9 a1 ge ag-ifhi Sia a8l 82
Options:

1) Fungi

helch

2) Spirogyra

TTRITRT

3) Hydra

EIES

4) Paramecium
Q

Correct Answer: Paramecium
Q



Candidate Answer: Fungi
helch

QID : 697 - Which disease is caused by cadmium metal pollution?

FSTHTH o7 % UGNUT § i< 9T T §iaT &2

Options:
1) Minamata

2) Itai-Itai
EER G

3) Asthma
SRYAT

4) Dermatitis
SHersfed

Correct Answer: Itai-ltai
GRS

Candidate Answer: Asthma
STHAT

QID : 698 - Which of the following is an organic gas?

frfafEa 7 @ o @ g e T &2
Options:
1) Carbon dioxide
COCERERICHIES
2) Carbon monoxide
BB Cal e
3) Ethylene dichloride
Qe SgeiRIES

4) Nitrogen dioxide
SIFSIIHIES
Correct Answer: Ethylene dichloride

CandidatevAnswer: Carbon dioxide
SIESIE SIS

QID : 699 - Basel Protocol is related to which of the following?

T Wetepiel eI & & fohad Tefda &2
Options:

1) Ozone layer

3T oA

2) Burning of forests

Tt T ST

3) Sea water pollution

TS STt T ST

4) Trans-boundary hazardous dumping
AT ST YTt o HHATIR WA=

Correct Answer: Trans-boundary hazardous dumping

TGaRATh AT Tl & FHTIR THiaRoT

Candidate Answer: Trans-boundary hazardous dumping
AT AT YTt o HHATIR WA=

QID : 700 - Which of the following is parasitic food chain?

fafafea # § &9 wRivshie @ sEe 8?

Options:

1) Trees — Fruits eating birds — Lice and bugs

987 — Thel @A a1l U8 — f aA7 i

2) Grass — Rabbit — Fox — Tiger

I — M — dAAS! — I8

3) Grass — Grasshopper — Frog — Snake — Hawk

4) Phytoplankton — Zooplankton — Fish — Hawk

UIey wideh — Uit wiaeh — ASel! — a9t

Correct Answer: Trees — Fruits eating birds — Lice and bugs
987 — Thel @I a1t U&ft — S qAT A

Candidate Answer: Grass — Grasshopper — Frog — Snake — Hawk

QID : 701 - Which of the following quality of timber can be improved using Abel’s process?
frafafed & & dendt &l T <t Tore gae & ufthar § et st 82



Options:

1) Durability
geAsfietar

2) Fire resistance

3ff gfaRierehar

3) Chemical resistance
HfeRterchdr

4) Strength
dTehd

Correct Answer: Fire resistance
EIGRECT

Candidate Answer: Chemical resistance
ufaRiereRar

QID : 702 - Which of the following shows the CORRECT decreasing order of rate of hydration of Portland cement compounds?

frafafea & & o a1 didds Widc difftel & Sterater &t & & T8t ged A @ fezarar 82

Options:
1)

C,A>CAF>C,S>C,S
2)
C,A>C,AF>C,S>C,S
3)
C,A>C,5>C,S>CAF
4)
C,AF>C,5>C,A>C,S
Correct Answer:
C,A>CAF>C,S>C,S
Candidate Answer:

C,A>C,AF>C,S>C,S

QID : 703 - The proportions of ingredients in concrete mix are given by 1:2:4. What will be the actual quantity of the sand per unit volume of cement, if it undergoes
20% of bulking?

hehte fsror & Tt o erguTd 1: 2: 4 & srgura F R war &1 e f ufay gfae A § 39 A arafie 9 @ 8, aft 358 20% H e g 82
Options:

115

2)2.4

3) 4.6

4) 6.5

Correct Answer: 2.4

Candidate Answer: 6.5

QID : 704 - What is the range of slump (mm) of the concrete which is used as the mass concrete?

chehle STt 7 & =0 § v fohar Sirar §, sreard (B =) Hiar = g2

Options:
1)10to 15
10815

2) 2010 50
20 & 50

3)50t0 75
50& 75

4)75t0 110
753110

Correct Answer: 20 to 50
20950

Candidate Answer: [ NOT ANSWERED ]

QID : 705 - In the symbol used to represent the concrete mix, MX. M stands for mix and numeric X represents the .

hehie fArsror a1 ufafAfde & & forg uges g MXH, M s & forg & ofR dweareras X o1 ufafAfere sar g1



Options:

1) 7 days compressive strength
7 f&t & gdites qrret

2) 14 days compressive strength
14 et & ddftew et

3) 28 days compressive strength
28 a1 & ddfte g

4) 28 days tensile strength
28 &1 & I |

Correct Answer: 28 days compressive strength
28 f&1 & ddte amt

Candidate Answer: 28 days compressive strength

28 f&1 & ddfre Tt

QID : 706 - According to the IS code, at what moisture content, weight of the timber is noted?

3TE.TY. I & IR, fohe T W, Fengt ot aor e fvar Sirar 82
Options:

Correct Answer: 0.12
Candidate Answer: 0.12

QID : 707 - What is the recommended moisture content of timber, which is used as a structural element for windows?

T ordt fFRrefrat & g TRamTeres dca & &0 & v v STrar 8, Srgeifiya =it &t | o &2
Options:

1) 5-10%

2) 10-16%

3) 16-26%

4) 26-36%

Correct Answer: 10-16%

Candidate Answer: 10-16%

QID : 708 - Which of the following represents the smallest size (mm) of fine aggregate (sand)?

frafafed & € & a1 Ike 9w (39) & 999 B R () @ fezarar &2

Options:

1) 0.01

2) 0.06

3)1.5

4)2

Correct Answer: 0.06

Candidate Answer: [ NOT ANSWERED ]

QID : 709 - What is the percentage content of silica in a good quality brick earth?

SRS} TOTEAT aTet el i) S S § IuANT i STl &, 3T fRAiferer B ufawra amE @ 82

Options:

1) 20-30%

2) 30-40%

3) 40-50%

4) 50-60%

Correct Answer: 50-60%
Candidate Answer: 50-60%

QID : 710 - When timber is burnt in the wood fire over a depth of about 15 mm, the process of treatment is known as .

RSl & ITTR Y Ufehar fOTH A<t ot 3T F &merT 15 A i meRrs aeh Ster fear S & 39 e SraT g

Options:
1) charring
TR

2) rueping process
it ufehar
3) bethel process

EEGRtIEDI
4) boucherie process

Correct Answer: charring

Candidate Answer: [ NOT ANSWERED ]



QID : 711 - The plasticity index and plastic limit of a soil is given by 25% and 20% respectively. What will be the liquid limit of the soil?

Bt 1 ereaaT (e gahics 3R Foed (wifee) W1 sher: 25% 3R 20% adk & 72 &1 g 6t axet fiwm arm &7

Options:
1)0.15
2)0.25
3) 0.35
4) 0.45

Correct Answer: 0.45
Candidate Answer: [ NOT ANSWERED ]|

QID : 712 - In the flow over length of 50 m, the head loss of 6 m occurred due to seepage. The hydraulic gradient is given by .

50 Hiex i ars & varg 7, 6 Hiex i FTTE FT TehdT RETa & HROT 3| gIEgieren Afede gRI fear smar 81
Options:

1) 0.01

2)0.12

3)0.29

4)0.32

Correct Answer: 0.12

Candidate Answer: [ NOT ANSWERED ]

QID : 713 - Which of the following expression represents the CORRECT value of coefficient of curvature?

FfafEa 3 & @i T 3fh aehar & TToTie & |gt 7 a1 wfaffde st 82

Options:
1)
{e (DEU )L
’ Dy, x Dy
2) )
e (Dﬁﬂ )
) D, % Dy,
3)
2
o= (Dm )
’ Dy, x Dy,
4)
o= D 30
: Dy, = Dy
Correct Answer:
o (D3U )é
’ Dy, =< Dy
Candidate Answer:
o= D 30
: Dy, = Dy

QID : 714 - Which of the following apparatus is used to measure the liquid limit soil?

8 it =t i ot 7R & forg =fafRa o @ fova Suesson a1 v fésar sirar 82

Options:

1) Casagrande apparatus
TS ST T

2) Pycnometer

3_) Ring and ball apparatus
a1 ofR et Iueheor

4) None of these

T 1S gl

Correct Answer: Casagrande apparatus
FYRITS JURRT

Candidate Answer: [ NOT ANSWERED ]|



QID:715-
The compressibility of the fluid is given as 5= 107" Pa™'.
What is the Bulk modulus (GPa) of fluid?

aa &1 Ghofar 5x 107 Pa' & & F & SR &)
el ey T Joarear A9ie (GPa) FT &7

Options:
1)10

2)15
3)20

4) 25
Correct Answer: 20
Candidate Answer: [ NOT ANSWERED ]

QID : 716 - Which of the following is measured with the help of an orifice meter?

= § @ o a1 SiiRfthe wiex & wgradT § =11 Si1ar 82
Options:

1) Discharge

fde=

2) Discharge coefficient
T[uTich

3) Head of water

Tt i FA1E

4) Pressure coefficient

CEIERIvICY

Correct Answer: Discharge

Candidate Answer: [ NOT ANSWERED ]

QID : 717 - Which of the following represents the CORRECT range of coefficient of discharge of venturimeter?

FafafEa 7 & @i 1 dgdeier & Fdga & uTics & Fg! W a1 ufaffde s 8?
Options:

1) 0.3210 0.43

0.32¥0.43

2)0.45t0 0.52

0.45¥0.52

3)0.54t00.75

0.54¥0.75

4)0.96 t0 0.98

0.96 ©0.98

Correct Answer: 0.96 to 0.98
0.96 9 0.98

Candidate Answer: [ NOT ANSWERED ]

QID:718-

A cube of dimension 2 m is floating in the water

with immeraing depth of 1 m. What is the weight

(kM) of the cube? (Consider unit wéight of water
as 10 kN/m® |

2 #HIeT & IAH & Tl 1 HieL Dl IHY TS &
T G # R T BT FT g (kN)

AT 87 (AT el &l =l &l SHs dofe
10kN/m® B)

Options:
1)10

2)20
3)30

4) 40
Correct Answer: 40



Candidate Answer: [ NOT ANSWERED ]

QID:719-
The Reynold number for the flow through smooth
pipe is given by 10°. The value of friction

factor for smooth pipe is

RI=T 95T & HARAH ¥ 4dig & 0T IHies #Aa¢ 10° &
Rir=T Ursg & T 999 FRE &
qT i

Options:
1) 0.001

2)0.018
3)0.089

4) 0.125
Correct Answer: 0.018
Candidate Answer: [ NOT ANSWERED ]|

QID : 720 - At a particular point in the channel, the specific energy and velocity of flow is given by 1.5 m-kg/kg and 2.5 m/s respectively. What is the depth of flow in
channel at that point?

el | Yeh faRi faig W, Aafre St ofR wamg a1 1 shmsm: 1.5 m-kg / kg 3R 2.5 m / s gIRT a1 ST 8| 39 98y I97eT H UdTg ol TTe31s T 87
Options:

1)0.5

2)1.18

3)2.32

4)25

Correct Answer: 1.18
Candidate Answer: [ NOT ANSWERED |

QID:721-
A circular pipe of diameter 60 cm carries a
discharge of 2. 5m*/s. What is the velocity

of flow (my/s) through the pipe?

60 ¥HT =g T e doaei asg A Hdea
25m/s I 959 & FAEGH O 9aE (m/ s) &1
a1 T B?

Options:
1) 2.5

2) 5.67
3)8.83

4)12.32
Correct Answer: 8.83
Candidate Answer: [ NOT ANSWERED ]|

QID : 722 - Which of the following represents the CORRECT relationship between the Chezy’s coefficient, C and coefficient of roughness of channel, f?

freafafEa 8 & @i a1 Ih 7uTies, C SR I &l GRETUH T[uTies, f & g ¥gt Red 1 ufafAfda ear 8?2



Options:

1)
’
Cop—o
JF
2)

Correct Answer:

g e

7

Candidate Answer: [ NOT ANSWERED |

QID : 723 - Which of the following is calculated with the help of Moody equation?

St gHieoT & g § e & @ fohareht o i St 87

Options:
1) Discharge

2) Friction factor
Y07 HREA

3) Pressure

EEIC)

4) Velocity of flow
yaTg & T

Correct Answer: Friction factor
hReh

Candidate Answer: [ NOT ANSWERED ]

QID : 724 - Which of the following is responsible for the separation of boundary layer?

A1 IR & 1o g & fog e F & e iR 82

Options:
1) Positive pressure gradient
HhRIcHh GalTd Uqurdr
2) High viscosity of fluid
&d 6l I AT
3) Low viscosity of fluid
et uaref i A AT
4) None of these
Fa .

Correct Answer: Positive pressure gradient
HhRIcHS CaTd TIuTdT

Candidate Answer: [ NOT ANSWERED ]

QID:725-
The settling tank of surface overflow rate of
4 5107 n? im?/s is used for design discharge of

2 m*/s_ What is the surface area (_mz] of the settling
tank?

TOE & HAUAE &7 4.5x 107 m*/nf/s &I Feloe
Tl & I 2nrls B F EEars

& fore & Sdr &1 dose 1 1 Jde &
(m?) @ g2




Options:
1) 1000

2) 2000
3) 3000

4) 4000
Correct Answer: 4000
Candidate Answer: [ NOT ANSWERED ]|

QID : 726 - The rain is called as acid rain, when its pH is less than .

STRLT ht 3t auf ehgt STTaT & 5 Igeht diu= BTG
Options:

1)3

2) 4.5

3)7

4)85

Correct Answer: 4.5

Candidate Answer: 4.5

QID : 727 - Using prismoidal method, what is the volume (cubic metre) of earthwork required for 10 m deep pit, if the top and bottom dimensions are 4 m x 8 m and 8
m x 16 m respectively?

oot fafy a1 ST e g, 10 Hiex ek g & foig siraads Gars ot e (9 Hiex) R & afe ofief ofik 2 & amam 4 Hiex x 8 wiex ok 8 Hiew x 16 Hiex §?

Options:

1) 678.34

2) 746.67

3) 800

4) 1493.33

Correct Answer: 746.67

Candidate Answer: [ NOT ANSWERED ]

QID : 728 - For supply, lime is measured in .

g F oy, AnmrSmard
Options:

1) bags of 50 kg

50 fopum & &t

2) cubic metre
o

3) kilograms

forettam

4) quintals

i

Correct Answer: quintals

Candidate Answer: quintals

QID : 729 - What is the estimate (Rs.) for a building with a plinth area of 2000 sq. m with rate of Rs. 3800 per sq. m? (Consider the adds of 15% of electric installation
and 7% of miscellaneous)

2000 Ffeftex & wWieT (fufete) gsmrar & fmfor & forg 3800 % ufd af wier &l R & srgaTfa Wi (vug) w82 719 SR Y 15% faga T ok 7% fafdear 81

Options:

1) 150000
2) 450080
3) 2423000
4) 9272000

Correct Answer: 9272000
Candidate Answer: [ NOT ANSWERED ]

QID : 730 - What is the quantity (sq. m) of plastering required for the 6 m length of wall which is 4 m high and 50 cm thick?

6 Hex 7, 4 ez ST ok 50 Ffer 7R §ar & forg smasads gear &Y 7 (af Hiew) @1 82
Options:

Correct Answer: 48
Candidate Answer: 24



QID : 731 - The length, width and height of a wall are given as 800 cm, 500 cm and 50 cm respectively. What will be the total cost (Rs.) of brickwork, if the rate of
brickwork is Rs. 320 per cubic metre?

e SR I dars, ders ok s shaer: 800 I, 500 It ok 50 Tt & & F & € &1 A Se-Rerd i ar 320 Ty ufy v Hiex & oY Se-Rerd f gt e (%) R e

Options:

1) 4000

2) 6400

3) 10500

4) 12860

Correct Answer: 6400

Candidate Answer: [ NOT ANSWERED ]

QID : 732 - The plinth area rate and plinth area of a building is Rs 5500 per sq.m and 150 sq.m respectively. What is the total cost (Rs.) of building considering cost of
electrification as 7%, cost of sanitary fittings as 16%, cost of roads and lawns as 6.5% and cost of contingencies as 4.5%.

Ueh 3R &1 i (TOferer) garther T X SR &+ &thel shAST: 5500 IUQ Tf &t Hiex 1R 150 Ufcr & #iex 8 1FSE 7% faggeiiehzor dl @, 16% &fest fOafem & amr, 6.5% Tt
3R AT ht AT 3R 4.5% SMTeh{TIeh T & w0 A fAafor & forg amma (Fuv) @ 81

Options:

1) 50000

2) 825000

3) 982860

4) 1105500

Correct Answer: 1105500
Candidate Answer: [ NOT ANSWERED ]|

QID : 733 - Which of the following item is NOT a lump sum item?

Rl & @ slv a1 % gerved I agg 7181 22

Options:
1) Architectural features
gy fALward
2) Contingencies and unforeseen items
STehfEreh 3R TR T
3) Electric installation
[EECESILE
4) Plastering of wall
hl UeT&i}

Correct Answer: Plastering of wall
IR T TR

Candidate Answer: [ NOT ANSWERED ]

QID : 734 - What is the total cost (Rs.) according to approximate estimate of hostel building with capacity of 75 beds? The altogether cost per bed is given as Rs.
20,000.

75 3 I &FAT aTt BITET & 70T & ST et nTd (JUY) T §2 Tfd UeitT et anTa 20,000 w9 far mam g1

Options:

1) 500000

2) 850000

3) 1500000

4) 5500000

Correct Answer: 1500000

Candidate Answer: [ NOT ANSWERED ]

QID : 735 - What is the volume of earthwork (cubic metre) in embankment of 10 m long and 7m wide with the side slope of 2:1?

2:1 Y et geT= & a2l 10 Hiex wdeft 3R 7 Hiex ALt Uk desier & @ard (5 Hier) &1 e o 872
Options:

Correct Answer: 390
Candidate Answer: [ NOT ANSWERED |

QID : 736 - Which of the following method is used to prepare the approximate estimate?

feafafea § @ fora RAfY 1 g s Teeres R A & forg foma Smar &2

Options:
1) Cubical contents method
e
2) Plinth area method
Y &eha fafd
3) Unit base method
3R fafer

4) All option are correct
goft faehey Tt €



Correct Answer: All option are correct
oft g

Candidate Answer: [ NOT ANSWERED ]

QID : 737 - In which of the following condition two contour lines intersect each other?

Frafafea # 4 o aikfefoat 4 & antea e g R @t @redt 82

Options:
1) Hills
ugre!

2) dverhanging cliff

SIcent 3T TgH

3) Steep slope

TSt eI

4) Uniform slope

THM &I

Correct Answer: Overhanging cliff
Icent g3 TgH

Candidate Answer: [ NOT ANSWERED ]|

QID : 738 - Which of the following scale of the map is not affected due to shrinking of map?

AR & e Ao § § @ AR & Riged & wRor yaifad T8 gtar 82

Options:
1) Engineer’s scale

el AT HTUh
2) Graphical scale
RaTees ATUR
3) Representative fraction

321

4) None of these
EEEEIEE]
Correct Answer: Graphical scale
Raredes ATUwR

Candidate Answer: [ NOT ANSWERED ]|

QID : 739 - A surveyor measures a distance between two points on a map of representative fraction of 1:100 is 60 m. But later he found that he used wrong
representative fraction of 1:50. What is the correct distance between the two points?

Ueh gderdh, 1: 100 & iy aiz1 & AmHfRe W & figait & ffa ot &t Aruan 8, St 60 Hier 81 &t ame & 3817 uman o 3817 1:50 & era ufaey sis a1 I faman &1 & fige &
i adt g = &2

Options:

Correct Answer: 120
Candidate Answer: [ NOT ANSWERED ]

QID : 740 - Which one of the following is the CORRECT statement for a station that is affected by local attraction?

f=fafaa & 3 o a1 g RIF & T I8t e & St o Wit siersor @ genfad 82

Options:
1) Difference between the fore bearing and back bearing is always equal to 90 Degrees.

3T F31fT 3R U1y 31T 1 iR gHam 90 f3ift & ReR glar g

2) Difference between the fore bearing and back bearing is always equal to 180 Degrees.
3 3R 3R TRy SFrfdr et SR gAem 180 ftft & arreR g @

3) Difference between the fore bearing and back bearing is not equal to 180 Degrees.

3 SR 7R TR FARAT AT SR gL 180 fTft & aRTeR g gt 8

4) Difference between the fore bearing and back bearing is always equal to 360 Degrees.
3T FRT 3R UTRa 37T AT SfaR gHen 360 feift & R BT @

Correct Answer: Difference between the fore bearing and back bearing is not equal to 180 Degrees.
377 3R 3R TR Frfdr et SR gL 180 fTft & arrer A grar &

Candidate Answer: Difference between the fore bearing and back bearing is not equal to 180 Degrees.
377 3R 3R TR Ffdr et SR gAem 180 fTft & arrer A grar &

QID : 741 - Which of the following error is most likely to occur in the plane table surveying?

frafafEa # 9 a9 @ R <= Taa adermn § Fa9 sifdes g ol draaT 82



Options:

1) Error in sighting

[SCER:E

2) Error in orientation

Ranfadar & gfe

3) Error in leveling

T | qfe

4) Error in measurement

AT A qfe

Correct Answer: Error in orientation
Ranfdar & gfe

Candidate Answer: [ NOT ANSWERED ]

QID : 742 - Which of the following is the expression for the additive constant, if f is the focal length of objective and i is the stadia interval?

frfafea # & o w1 gieie fFadie & fog S 8, afk f axg &l e gt ok | RfSar siavre 87
Options:

1) f-i

2)f/i

3)f+d

4)fxi

Correct Answer: f + d

Candidate Answer: f /i

QID : 743 - The staff reading taken on a staff held at a distance of 50 m from the instrument with the bubble central is 1.465 m. When the bubble is moved 4 divisions
out of the centre, the staff reading is 1.472 m. What will be the radius of curvature (m) of the bubble tube, if the length of one division is 2 mm?

FAGAT e h 1Y IUAUT § 50 FHiex T g8 R IS Yo WIF TR &1 T3 WIth e 1.465 Hex & STa A che oh SlTeR 4 | ot RAHIAR {3 STrar 8, af It ued 1.472 fiex
YA I Y ashell e (FteR) R g, 3t geR T Y wiag 2 et 82

Options:
1) 30

2)437
3)57.14

4) 66.34
Correct Answer: 57.14
Candidate Answer: [ NOT ANSWERED ]

QID : 744 - Which of the following is the CORRECT ratio of refraction correction to curvature correction?

FfafEa 7 § sruecdH & guR & geadT & UR & I Fat Sigurd o1 872
Options:

1)1/4

2)1/6

3)1/7

4)1/9

Correct Answer: 1/7

Candidate Answer: [ NOT ANSWERED |

QID : 745 - Which of the following instrument is used for centering the theodolite in windy conditions?

ffafEa & @ el a1 91 gar ) Rl & Rratelemge o fed wea & forg s frar sirar &2

Options:

1) Cross staff

g It

2) Optical plummet
TepTefia Aget ()

3) Optical square
yepiefta anf

4) Spirit level
e (B dae)

Correct Answer: Optical plummet

TRIRIT TTge (W)

Candidate Answer: Spirit level
e (B dae)

QID : 746 - Which of the following test is used to make the line of sight perpendicular to the horizontal axis?

Fraffea & 9 fore wdieror & Heres & gfE-Ya @ &St 3181 &t waad e o forg T faRa ST 82



Options:

1) Azimuth test

feaisr (erefifara) wderor

2) Cross hair ring test

e gaR R adveror

3) Spire test

T (TTSR) o

4) Vertical arc test

I 919 TrEToT

Correct Answer: Azimuth test
feier (Srefifarer) oteror
Candidate Answer: [ NOT ANSWERED ]

QID : 747 - Which of the following statement is TRUE for the linear reservoir?

fFrafafea 8 @ o a1 sue Iy sarm & g 9« &2

Options:

1) Storage is proportional to inflow discharge.

Turg Srafe FAdea & srquifae 1

2) Storage is proportional to outflow discharge.

g ST g1

3) Storage is proportional to square of inflow discharge.
Turg Sraafe Fdea & avf & smuifaes &1

4) Storage is proportional to square of outflow discharge.
T sfgdle FAde & @ & smgurfass &1

Correct Answer: Storage is proportional to outflow discharge.
Turg Sfgals Fdg & siguifass g1

Candidate Answer: [ NOT ANSWERED ]

QID : 748 - A 45 cm diametre well penetrates an unconfined aquifer of 30 m thick. Under the steady pumping rate for a long time, the drawdown’s at two observation
wells 10 m and 20 m from the pumping well are 5 m and 3.5 m respectively. What will be the discharge (cubic metre), if the permeability of the aquifer is given as 20
m/day?

e 45 9ft 219 30 e il AYeTs & o SaTAd Siayd o A1 et aRE © WA el g1 oid THY deh TR Uit & & dgd, shAST: 5 Hiex 8k 3.5 Hiex o &t sracien e & ufth
STt o &l STacieh ot A 10 Hiex 3R 20 Hiex §1 $7R STer= i aRaT 20 Hiex / &7 & & & & Sirelt 8, 7 vare (FRgfeven HieR) /m ghm?

Options:

1) 0.05

2) 0.067

3)0.08

4)1.12

Correct Answer: 0.08

Candidate Answer: [ NOT ANSWERED ]

QID : 749 - What will be the cant deficiency (cm), if maximum safe speed on a 5 Degree curve of a broad gauge track is 110 km/h and average speed of train is 85
km/h?

Fe § ft (ft) R gift, oFR Tah aTues T o i 5 et ek UR SifdieRam gRfeéra i 110 foReft / ger ginft ofiz &1 <t sftwra wifar 85 fomeft / wer gifi?

Options:
1) 6.3
2)10
3)12.6
4)18.7

Correct Answer: 10
Candidate Answer: [ NOT ANSWERED ]|

QID : 750 - What will be the shift of transition curve, if the length of transition curve is 80 m and radius of the curve is 300 m?

URITHA dh ch! TTelt aRIT GITTT, SR UTRITHA ash i iams 80 Hiex ik ash & fAsar 300 ez 2

Options:

1) 0.011

2)0.78

3) 0.89

4) 21.33

Correct Answer: 0.89

Candidate Answer: [ NOT ANSWERED ]

QID : 751 - Design of a riveted joint, is based on the assumption

Raee St o1 fewimeH, gRom R senRd &



Options:

1) Load is uniformly distributed among all the rivets

ot it Rdew & fta T w0 @ fafa forar mar @

2) Shear stress on a rivet is uniformly distributed over its gross area

R R T 1 TG S0 Heohet 87 R GAH U 9 fGaRd forar sirar &

3) Bearing stress is uniform between the contact surfaces of the plate and the rivet
SR I1a e & Judh gag! 3R i & s T 99 &

4) All option are correct

gt RiereT Tg &

Correct Answer: All option are correct
Candidate Answer: [ NOT ANSWERED ]

QID : 752 - Effective length of a column effectively held in position and restrained in directions at both ends is
Tl & @ RS & 7@ U ofik EHY R w Rdei & DT Ten srierd cht g} S &

Options:

1L

2)0.67L
3)0.85L

4)15L
Correct Answer: 0.67 L
Candidate Answer: 0.85 L

QID : 753 - The slenderness ratio of a column is zero when its length

Teh &I Sl TIUSIAY U 4 BielT &, ST 5Geh! s
Options:

1) is zero

e

2) is equal to its radius of gyration

TR & 310 3T & SRR &
3) is supported on all sides throughout its length
ARG ST oS B gAfda &
4) None of these
T A FE T
Correct Answer: is supported on all sides throughout its length

goft TR Srot e A gufda §
Candidate Answer: [ NOT ANSWERED ]

QID : 754 - Outstanding length of a compression member consisting of a channel is measured as

foneft a1 T fcte yer St e Y IehTaT @S ohi 39 a¥g ° HIUT SIdT &

Options:
1) half of the nominal width
AT ST ohT ST
2) nominal width of the section
ST Y A dreTs
3) from the edge to the first row of rivets
fFR & Ry &t ugeh dfh & fog
4) None of these
a .

Correct Answer: nominal width of the section
ST Y AT SIS
Candidate Answer: [ NOT ANSWERED ]

QID : 755 - The equivalent axial load may be defined as the load which produces a stress equal to

TRTeR H1efia YR &t i & ®u § aRkefa faar S werdt & Sit foh 590 aRTeR a1 ot Gt AT &
Options:
1) maximum stress produced by the eccentric load
farereror IR gRT 34 S1fdehas a1
2) maximum stressed fiber
ThIgeR R SR fear
3) bending stress
A W &E
4) None of these
T Y A T
Correct Answer: maximum stress produced by the eccentric load
fareretor YR gRT S S1fdehad a1

Candidate Answer: [ NOT ANSWERED ]
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QID : 756 - For the economical design of a combined footing to support two equal column loads the projections of beams in lower tier are kept such that bending
moment under column is equal to

T} SRIER T 7S AT T FA & g Tg<h TR & aiffen fEwmge & forg gt TR & e ot srgem= o ST &, anfes & o i ggenn) ot &1oT 39 aRTeR g

Options:

1) bending moment at the center of the beam

71 3 g & g T 0T

2) half the bending moment at the center of the beam
o & e | STerT epe o &0

3) twice the bending moment at the center of the beam
1 o e # &Y IR e aT &1

4) None of these

T A HIS T80

Correct Answer: bending moment at the center of the beam
o & e | g 1 &

Candidate Answer: [ NOT ANSWERED ]

QID : 757 - A beam is defined as a structural member subjected to

Uh 11 i TRETHS G & w0 § Ry foram Sar 8, avrd ag
Options:

1) axial loading

31

2) axial and transverse loading
Jefta 3R srgery A

3) transverse loading

SIUY A

4) None of these

T A g T

Correct Answer: transverse loading
STTULY <TaT

Candidate Answer: None of these

T & iE T

QID : 758 - The gross section of the web of a beam is defined as

Ueh i <l 39 & Geohel WS Y 39 avg T uReia fovar mar &
Options:
1) depth of the beam multiplied by its web thickness
| aom
2) width of the flange multiplied by its web thickness
ArenetT gon frRT it TS gTehl A9 Aters & om gt &
3) sum of the flange width and depth of the beam multiplied by the web thickness
AT SIS SR Sl h T8RS et TRT Al I8 HieTS © 7om
4) None of these

T & i T

Correct Answer: depth of the beam méJItipIied by its web thickness

A7 i TETE TR AT HierE & om et
Candidate Answer: [ NOT ANSWERED ]|

QID : 759 - The effective length L of a simply supported beam with ends restrained against torsion, and also the ends of compression flange partially restrained
against lateral bending is given by

e gaffd i & wereht g L, foaH fReR mRie & faeg ufekiy @ 8, ofk ursf gopma o e o1ifies &0 & nfariedt e & iR g9as grrfeg g &
Options:

1) L= span

L = 3@ty

2) L=0.85 span

L = 0.85 sr@fdr

3) L=0.75 span

L =0.75 srafy

4) L=0.7 span

L=0.7 3@t

Correct Answer: L= 0.85 span

L = 0.85 3afy

Candidate Answer: L= 0.85 span
L = 0.85 s@fer

QID : 760 - The connection of one beam to another beam by means of an angle at the bottom and an angle at the top, is known as

12 gk ot 3R fief R ge i F gk T @ gt e o ek, 39 w9 F ST S @



Options:
1) unstiffened seated connection

fRafy foR Fem
2) stiffened seated connection
e gor feR s
3) seated connection
FAGR

4) None of these

T IS T

Correct Answer: seated connection
T~

Candidate Answer: [ NOT ANSWERED |

QID : 761 - Separation of water or water sand cement from a freshly mixed concrete is known

arer fAfdd dhehie & urt a1 urht & 39 Hie i 31T et Bl 3T AT F STHT ST &

Options:
1) bleeding
wfif&

2) creeping
hiftT

3) segregation
ST g

4) flooding
FAfeT

Correct Answer: bleeding

Candidate Answer: bleeding

QID : 762 - For road pavements, the cement generally used is

TS o HeuTd o folg, HTHAR R IR g areft e gidft &

Options:

1) ordinary Portland cement

HIURY Uieeis HiHe

2) rapid hardening cement
9 o= i

3) low heat cement

&H a9 e

4) blast furnace slag cement
e e

Correct Answer: rapid hardening cement

aeft & T g arett Hide

Candidate Answer: ordinary Portland cement

YR Gideis e

QID : 763 - Hydration of cement is due to chemical action of water with

e o1 gTeeyH, 399 Y Y ImafAes fohat & HRUTEIAT &

Options:
1) Tricalcium silicate and dicalcium silicate

ZrEhfeRran fAferdhe ofk SrahfcRrm fferde

2) Dicalcium silicate and tricalcium aluminate
R fAifedhe ok TEdfRmm

3) Tricalcium aluminate and tricalcium alumino ferrite
TR Tegfine ofR grgdhieRrd sifedt terse

4) All option are correct

af 4

Correct Answer: All option are correct

gt e Tl &

Candidate Answer: Tricalcium aluminate and tricalcium alumino ferrite

TR TR SR 2T TR SR e

QID : 764 - Internal friction between the ingredients of concrete, is decreased by using

chehte &t Tl & i siiafRer TsuT, STeRT AT IUTNRT ehech e foharT STT TehdT &



Options:

1) less water

& Tt

2) fine aggregates

EINEESE Copl

3) rich mix

g fAsor

4) more water and coarse aggregates

31feh Tt 3R Aier TH=

Correct Answer: more water and coarse aggregates
Aiel S
Candidate Answer: more water and coarse aggregates

31feh Ut 3R Aler TH=

QID : 765 - In a slump test, each layer of concrete is compacted by a steel rod 60 cm long and of 16 mm diameter for

g gteror §, dhehie &Y Ucieh URd ot 60 cm %l 3R 16 mm T &Y Wit A gRT 39 folg shirdare fohar sirar &

Options:
1) 20 times
20 IR

2) 25 times
25§R

3) 30 times
309R

4) 40 times
40 times

Correct Answer: 25 times
259R

Candidate Answer: [ NOT ANSWERED ]|

QID : 766 - To prevent segregation, the maximum height of placing concrete is

Options:
1) 100 cm

2)125cm
3) 150 cm

4) 200 cm
Correct Answer: 100 cm
Candidate Answer: [ NOT ANSWERED |

QID : 767 - The shuttering of a hall measuring 4 m x 5 m, can be removed after

4 m x 5 m & A9 aTet et o AR, Tt 3Tk sI1G B graT Sff ehdl &
Options:

1) 5 days

5f

2) 7 days

7Ra

3) 10 days
10 =
4) 14 days
14 =

Correct Answer: 7 days
7R

Candidate Answer: 14 days
147

QID : 768 - For compacting plain concrete road surface of thickness less than 20 cm, we use

20 Y § 7 HieTs T THAA S TSHh! i G oh (1T, §H IUTNT il &

Options:
1) internal vibrator

2) screed vibrator
3) form vibrator
W argsier

4) None of these

A A FIE T8l

Correct Answer: screed vibrator

Candidate Answer: [ NOT ANSWERED ]



QID : 769 - Pick up the correct statement from the following

o T TEt e Y ugEE

Options:

1) Construction joints in columns are provided a few cm below the junction of beam
ot & fafor Siet ot dfiw & S @ $& em A ve e smar @

2) Construction joints in columns are provided at the bottom haunching

i B fmfor Sl ot i gl & ver famar smar &

3) Construction joint in beams and slabs are provided within middle third

1 ok Wa 7 fFAmor Sifge 7o R & iR ware fomar STrar &

4) All option are correct

g} e Tl &

Correct Answer: All option are correct

gt Qe Tl &
Candidate Answer: [ NOT ANSWERED |

QID : 770 - An excess of flaky particles in concrete aggregates

3 T § SifaRh TRaeR ol el g1
Options:

1) decreases the workability

Frfsfierdr ge

2) increases the quantity of water and sand
Y 3R 39 Y AT 96 ST §

3) affects the durability of concrete
F Y THTId T &

4) All option are correct
goft faerey Tt €

Correct Answer: All option are correct
oft g

Candidate Answer: All option are correct
goft ey Tt €

QID : 771 - For the construction of cement concrete dams, the maximum permissible size of the aggregates is

e dhhie aiell & fmior & forg, T=aa o1 sifdeds Werf sTeaR &

Options:
1) 40 mm

2) 50 mm
3) 60 mm

4) 70 mm
Correct Answer: 40 mm
Candidate Answer: [ NOT ANSWERED ]

QID : 772 - For given workability the grade requiring the least amount of water is one that gives

fw 7T prierdr & foy a8 I SR o8 @ &1 Ul Y maxaehdT gidl 98 giaT 8, S aT g

Options:
1) greatest surface area for the given cement and aggregates
g My die ik aemy & fog e a9 9ag &7

2) least surface area for the given cement and aggregates

fg Mg Tie ik gy & oy &0 @ &1 Iag &9

3) least weight for the given cement and aggregates

g Mg e ofik Tgeay & fog &9 g

4) None of these

T A g Tl

Correct Answer: greatest surface area for the given cement and aggregates
fog g e ok T & forg ge ot 9ag &

Candidate Answer: [ NOT ANSWERED ]

QID : 773 - The type of aggregates of same nominal size, which contains less voids when compacted are

FH AFAT SR & T H1 UhR, e siriae g1 IR &7 fadieH gid §
Options:
1) rounded spherical

kil

2) irregular

3) flaky

TRASR

4) None of these
a 4



Correct Answer: rounded spherical
MATRR gF

Candidate Answer: flaky

TRASR

QID : 774 - For quality control of Portland cement the test essentially done is

e Hide & Turamr s 3 forg sifard w0 s mar udteror &
Options:

1) setting time

g Ye HAT

2) soundness

g&dl

3) tensile strength
JIdT dlehd

4) All option are correct
gt ;

Correct Answer: All option are correct

qoft fioemey @Y €
Candidate Answer: soundness

gl

QID : 775 - Pick up the correct statement from the following

=1 & T8t e i ugaE AR

Options:
1) The percentage of voids in the aggregate after proper compaction is called the angularity number
T SO o 918 Gehel H <h T oA UTAId STTehet= ST gl SITdT &
2) Angular aggregate are superior to rounded aggregate
T el iR
3) The surface texture depends upon the hardness, grain size, free structure and the structure of the rock
HAE TIGE TR, SHTST SRR, Hh TREHT 3R Te2R Sl Ta-1 R AR dear g
4) All option are correct
goft 4

Correct Answer: All option are correct

goft foemey Tt €
Candidate Answer: [ NOT ANSWERED ]

QID : 776 - No shrinkage occurs if the concrete is placed in a relative humidity of

IE Hepter T8 BIcl 8, AR dhehic T ATAeT ST (gFTEE) ¥ e Sira &
Options:

Correct Answer: 1
Candidate Answer: [ NOT ANSWERED |

QID : 777 - Argillaceous materials are those:

RSy grnft a8 gt &:

Options:

1) which have alumina as the main constituent
S R Tk & ®9 H

2) which have lime as the main constituent

ST 3 Uk oh A AT 8

3) which evolve heat on the addition of water

gt & e T &ar g

4) which easily break when hammered lightly
St g1 & gUteT g wR oft sraTh § g Sy

Correct Answer: which have alumina as the main constituent
i 7 e & w0 Gogfi &

Candidate Answer: [ NOT ANSWERED ]

QID : 778 - Spot the odd statement:

T8 § I8 U I ugaH R



Options:

1) rounded aggregate

e e

2) irregular or partly rounded aggregate
7 31ifes wU & et gof

3) angular flaky aggregate

A TRAER el

4) single-size aggregate

Uehal-31TehR T

Correct Answer: single-size aggregate
Yehel-31TehR T

Candidate Answer: [ NOT ANSWERED ]

QID : 779 - If d and n are the effective depth and depth of the neutral axis respectively of a singly reinforced beam, the lever arm of the beam, is

afe d 8fiR n e T8 vafora dfiw & ohmer: dewer et dht TeRrE ofik ewrd & Y i efter @i @
Options:

1)d

2)n

3) d+n/3

4)d-n/3
Correct Answer: d- n/3
Candidate Answer: d- n/3

QID : 780 - Pick up the incorrect statement from the following. The intensity of horizontal shear stress at the elemental part of a beam section, is directly proportional
to

fafafea @ maa awuE gerd fin We & gat 9T § Sfas shaxt a1 it dterar e 3ad sruTfaes gkt

Options:

1) shear force

<ffeR dTend

2) area of the section

ST T &

3) distance of the C.G. of the area from its neutral axis
CG &I & &1 ol Jey T &

4) moment of the beam section about its neutral axis

TR T 31 h TR T S ST T 8707

Correct Answer: moment of the beam section about its neutral axis

TR T 31T h TR T S ST T 8707
Candidate Answer: [ NOT ANSWERED ]

QID : 781 - If the average bending stress is 6 kg/cm? for M 150 grade concrete, the length of embedment of a bar of diameter d according to 1.S. 456 specifications is

Ife; e et &1 d-Ta M 150 TS dhehie & forg 6 kg/cm? &, at IS 456 fAfRTEdrsit & SR =ard d & Teh IR &l SiTad= &Y oies &

Options:
1)28d

2)38d
3)48d

4) 58 d
Correct Answer: 58 d
Candidate Answer: 38 d

QID : 782 - A singly reinforced concrete beam of 25 cm width and 70 cm effective depth is provided with 18.75 cm? steel. If the modular ratio (m) is 15, the depth of
the neutral axis, is

Teh Uehel Uaiferd ehehic a1 forgeht 25 Gt &l dierd @ik 70 d&ter uoret Tere at 18.75 cm? Tiel & |1y Ue T SITdT & afe Afeek SIquTd (m) 15 &, dt deey 31eT Y s &

Options:
1) 20 cm

2) 25cm
3) 30 cm

4) 35¢cm
Correct Answer: 30 cm
Candidate Answer: [ NOT ANSWERED ]



QID : 783 - If the neutral axis of a T-beam is below the slab, the relationship between the flange width B, depth of neutral axis n, thickness of the slab dg, effective
depth of the beam d, gross area of tensile steel A; and the modular ratio m may be stated as

e &1 & dee 3181 T & A1 g, df TR 91918 B, AR & & TTeTS n, i i Alers dg , S el geTelt TT8RTS d, T S2UTd A Sl Fehet 8 TR ATSIeR & die deie S1gara m
S g ST TehdT &

Options:

1) Bds (n - dg/2)=mAt(d+n)

2) Bds (n + dg/2)=mAt(d - n)

3) Bds (n - dg/2)=mAt(d - n)

4) None of these

B EEEIEE]

Correct Answer: Bdg (n - dg/2)=mAt(d - n)

Candidate Answer: [ NOT ANSWERED ]|

QID : 784 - In a simply supported slab, alternate bars are curtailed at

Ueh GER fig gU Wi #, dorfcen Ioal ol 9 UR A e T SI1aT &
Options:

1) 1/4% of the span

3afd & 1/4

2) 1/5t of the span

3afd &1 1/5

3) 1/6t of the span

3afd & 1/6

4) 1/7t of the span

@ & 1/7-at

Correct Answer: 1/7t" of the span
@ &1 1/7-at

Candidate Answer: 1/7t" of the span
W o1 1/7-at

QID : 785 - In a slab, the pitch of the main reinforcement should not exceed its effective depth

el 7, 7 oo Y R o s e & s T g ey

Options:
1) three times

T

2) four times

IR

3) five times

EIEKICH

4) two times

QAT

Correct Answer: three times

Giskic!

Candidate Answer: [ NOT ANSWERED ]

QID : 786 - In a combined footing if shear stress exceeds 5 kg/cm2 , the nominal stirrups provided are

DRt 1 5 kg/cm? & 3iflich 8 )R Tg<h BT F, ter it S areft A R &

Options:
1) 6 legged
6 ™R

2) 8 legged
8 ;R

3) 10 legged
10®R

4) 12 legged
12

Correct Answer: 12 legged
12®R

Candidate Answer: 12 legged
12®R

QID : 787 - To ensure that the hogging bending moment at two points of suspension of a pile of length L equals the sagging moment at its center, the distance of the
points of suspension from either end is

g GRTYT & o fg o e L o @R o ficter & 2 foigail or gifthT et ot &1, I9eh e & ST uet o sRrer gien 8, ot bt off ofa @ Pcfam & g dhr g 8



Options:
1)0.107 L

2)0.207L
3)0.307L

4)0.407 L
Correct Answer: 0.207 L
Candidate Answer: [ NOT ANSWERED ]

QID : 788 - To have pressure wholly compressive under the base of a retaining wall if width b, the resultant of the weight of the wall and the pressure exerted by the
retained, earth should have eccentricity not more than

Teh R SHIY @A & TR IR G avE 9 ga1d STeH & forg afe FerE b, §ar & g & uRummasy 8k T@ §Y gRT &aTd STe S11g, df gt ol Terifefid) 399 s1fdres g1 gi-it =nfey

Options:
1) b/3

2) b/4
3)b/5

4) b/6
Correct Answer: b/6
Candidate Answer: b/6

QID : 789 - The ratio of the length and diameter of a simply supported uniform circular beam which experiences maximum bending stress equal to tensile stress due
to same load at its mid span is

Teh Td a1 URus S i wiaTs 3R 2T T ST, ST Hed Srafd # ST S & HROT a1 a1 & SRISR SHTSehd™ SIeha deTd T STgd el &

Options:
1)1/8

2)1/4
3)1/2

4)1/3
Correct Answer: 1/2
Candidate Answer: [ NOT ANSWERED ]

QID : 790 - The ratio of the deflections of the free end of a cantilever due to an isolated load at 1/3rd and 2/3rd of the span is

1/3rd 3R 2 / 3rd & 3id # gUek YR o HRUT Sihe o Hh3id ch [ATTUT &l STFaTd

Options:
1)1/7

2)2/7
3)3/7

4) 2/5
Correct Answer: 2/7
Candidate Answer: [ NOT ANSWERED ]|

QID : 791 - A compound bar consists of two bars of equal length. Steel bar cross-section is 3500 mm?2 and that of brass bar is 3000 mm2. These are subjected to a
compressive load 100,000 N. If E,=0.2 MN/mm? and EL=0.1 MN/mmz, the stresses developed are

Tk Gifiteh SR & TA wiaTd o &) IR g &1 Wt IR shrg-der 3500 mm? § SR 5137 §R 3000 mm?2 81 3 Geh Tt ¥R 100,000 N & 3refi=T €13 B, = 0.2 MN / mm?2 3R Ep =
0.1 MN / mm?, &t R g arett o &

Options:

1) 6p=10 N/mm2, 65=20 N/mm?

2) 0p=8 N/mm2, 64=16 N/mm?
3) 0p=6 N/mm2, 64=12 N/mm?

4) 0,=5 N/mm2, 64=10 N/mm?
Correct Answer: o,=10 N/mm?Z, 64=20 N/mm?
Candidate Answer: [ NOT ANSWERED ]

QID : 792 - The radius of gyration of rectangular section (depth D, width B) from a centroidal axis parallel to the width is

IRATHR T (TS D, Heré B) & =er @ Uah deiusd 318l gaiaR & e Bsar g



Options:
1)D/2

2) D/V3
3) D/(2v3)

4) D/(4v3)
Correct Answer: D/(2v3)
Candidate Answer: [ NOT ANSWERED ]|

QID :793 -

For determining the force in AB of the truss shown
in the figure below by method of sections, the
section is made to pass through 4B, AD and
EDand the moments are taken about

AYFT #l A griAd Gy Al d Rem e &
AB, ¥ & &1 0T &3 & T, AB. AD 2fi%

EDH UG e g AR W ra R ag §

Options:

1) joint C

Sfgc C

2) joint B

Sifse B

3) joint D

Sifge D

4) joint A

Siise A

Correct Answer: joint D
Sifge D

Candidate Answer: [ NOT ANSWERED ]|

QID :794 -

The foree in €D of the truss shown in the figure

JHfcam ey wewcon HRFAddeRa ada g

3¢




Options:
1) 3t compression
3t gdfieT

2) 3t tension
3taqma

3) zero

T

4) 1.5t compression
1.5t IdteT

Correct Answer: zero
A
Candidate Answer: [ NOT ANSWERED ]

QID : 795 - A shaft rotating N.R.M. under a torque T, transmits a power of

Ueh TP o N.R.M | Teh &Tch & & dgd, Teh 1fh TaTRa aheal &

Options:

1) TnN/30 Newton meters/sec
TnN/30 =g #iex /sec

2) TriN/30 Newton meters/min
TriN/30 =g Hiex /min

3) TiN/60 Newton meters/min
TrN/60 =g Hiex /min

4) TniN/60 Newton meters/sec
TriN/60 =g #iex /sec

Correct Answer: TrtiN/30 Newton meters/sec

TriN/30 =g ez /sec
Candidate Answer: [ NOT ANSWERED ]|

QID : 796 - The greatest load which a spring can carry without getting permanently distorted is called

T8 FT e 57 w@irft &0 € fagpa g & fom 8 g1 & S ekt €, I¥ et SiraT @

Options:
1) stiffness

2) proof resilience

qgd

3) proof stress

T T

4) proof load

T YR

Correct Answer: proof load

T YR

Candidate Answer: [ NOT ANSWERED ]|

QID : 797 - In case of a simply supported | — section beam of span L and loaded with a central load W, the length of elasto-plastic zone of the plastic hinge is

A L o1 A |-3rg T i & A 7 SR il dis W o a1 @S fohaT ST &, WiTfees fast & Seel-wiie e &5 i 7as o
Options:

1) L/2

2)L/3

3)L/4

4)L/5
Correct Answer: L/5
Candidate Answer: L/2

QID : 798 - The horizontal thrust on the ends of a two-hinged semicircular arch of radius R carrying

frsar R o S aret Qe aret Sftager 3 & 8R W st a8 o ST g

Options:

1) a uniformly distributed load w per unit run over its right half span is (2/3)* (WR/m)

Ueh GAM &Y ¥ fIaRd YR ufd 3errE I ot S1fgr e @ & (2/3) * (WR / 1)

2) a uniformly distributed load w per unit run over its entire span is (4/3)* (WR/m)

Uk TAH &0 I fdaRa ¥R ufd 3o aem T R @@ & w (4/3) * (WR /)

3) a distributed load varying from zero at the left end to w per unit horizontal run at the right end, is (2/3)* (WR/m)
1 3R ¥ I § Uk fAaRd 9R SiefT-31er &ifdst 3 ufd gfe & sR1eR 8, (2/3) * (WR /1)

4) All option are correct

goft faerey Tt €

Correct Answer: All option are correct
goft femey Tt €

Candidate Answer: [ NOT ANSWERED ]|



QID : 799 - If a three-hinged parabolic arch, (span |, rise h) is carrying a uniformly distributed load w/unit length over the entire span,

I - geh IR o1, (W41 1, Fgd h) R fadR R 99 &9 @ fRaRa wR w / gfie e dar g
Options:

1) horizontal thrust is (wl2)/8h

AR SR (wi?) / 8h &

2) Shear Force will be zero throughout

fRAR B R F7 & SR 4 8 g

3) Bending Moment will be zero throughout

ST U ¥R H T g S

4) All option are correct

g} fAreg Tl &

Correct Answer: All option are correct

goft ey @t €
Candidate Answer: [ NOT ANSWERED |

QID : 800 - The equivalent length of a column of length L having both the end fixed is

L <faiTE 3 Teh ehietd i aRTeR s forgeht -1 &f ofd AR 8

Options:
1) 2L

2)L
3)L/2

4)L/v2
Correct Answer: L/2
Candidate Answer: 2L



